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x=10"cm < pc=100eV
x=108cm < pc=1lkeV
x=10-cm < pc=10MeV
x=1013cm - pc=100MeV
x<101cm < pc>100GeV

O 1eV=1.6x 101°J




+2/3
-1/3



vy



g d—7 P il
0 °
Heh ko S

o I

ARy Fy—h

=a—kY/




%) | 13545

—m,. cr/h

V(r) = —g°
h/m_c 10%cm (m,=140MeV)



=(uud
n=(udd) p=(uud)

1 * =(ud)

) n=(udd)



e* +1
V., 0
p=(uud) -1
n=(udd) o
u -2/3

d +1/3



W,Z 100GeV 107




R E{E o AME¥ o
TLvAERT TLvERT

B )







m=a—
it I

Wi+
M==0 Bl




woA—s WMIF—Z oA =2

d-2F4—4
M=0 |
S U&=
LN

FOA—=T WoA—o

BRERRIN—F
(BT




f(xy,z,b)

0 (xy,zt)
f(x,y,z t)— e *¥2Y f(x y,z t)



1)

W,Z



éﬂﬂ(ﬂi—ﬂﬁ 2204 WH= A I\T H)IJH?;

\_ /] N L

D ~—









b oo T AR b oo T A b T AR

mE T NEEADSET
: RN R - N A X L iy
I L EAEER
- D D | | e
Elh.
i Fut F— L. o DF e o~
2 D D LD| | wwnzen
g5y |ARLYY] CREL 0
Ll | W |
QY TN LY 35l EE
v W @© || W@ W@
! ﬁ% E_:L—:'j-:-" 'E"_','.' ) L "."'."T'. 'y ET'._.-"_..-'
HEESA ST '
(D -







A




60

40

20
O

1

10° 1019 101> 1024°




BtB B-BfB¥B%.B1 EB B /°2
JJp- -

WIEs) L ':ﬂz_/ 255 AF—

e ?i

EISLEICLE“U®E: TeeAYw /Al
®ATYUEEGeVE: £Vl 2§
7) < E<y¥% g»Al-"aAt
Vap= Yl e< O>ft> 5 ceEN t

7J < Eq°AYEWU = JE
¥-a2K E«E!Y2¢cAYr

M Yasl ce




